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Parts

“The process of completing the square can be used to calculate the width, in
fect, of the storage bin that gives a maximum arca. What is the missing
value?

A= -2teae

A= -2lc-sPer




image6.png
‘The diagram shows two cylinders with bases that have the same center and
helghts of 12 milimeters.

12 mm

34. Parta

Which is a function for the volume, V, that i Inside the larger cylinder but
outside the one with the smaller radivs, 77

© Vi) = 1.2008 - 12572

Vi) = 1208 - 12272

202

®©
© vin
® V) = 125010 - 1)
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Part B
Suppose that there is space between the inner and outer cylinders and the.
Fadius of the inner cylinder must be an integer greater than or equal to 3.
What s the domain of V7

© allintegers greater than or equal to 3

© 3,4,56,7,8,9,0r10

© 3,4,5,6,7,8,0r9
®

2zmss
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PartB

One student will be selected at random from the dlass.

Consider the events:

X: the selected student is female

¥: the selected student is right-handed

Which statement about events X and Y is true?

® The events are independent because the number of right-handed
students in the class is larger than the number of female students.

® The events are independent because the number of categories for
dominant hand is different from the number of categories for gender.

© The events are not independent because for one of the dominant hand
categories the number of female students is 0.

© The events are not independent because the probability of X is not equal
to the probability of X given Y.
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A random sample of 200 teenagers participated in a taste test. Each teenager
‘sampled four choices of frut drink (labeled A, B, C, and D), and then were.
asked to pick a favorite. The table shows the resulfs of ths taste test.

AlB[c D[ Tom
Boys | 45 |25 | 30 | 20 120
Grs | 25 |10 30 |15 80
Tl | 70 |35 60 | 35 200

Based on the information given, which of the given statements are true?
Select al

hat apply.
® 40% of the particpants were girs.

® 70% of the participants preferred A
© 25 of the boys preferred D.
o

13 o theportictpants who prefrrd B were g,

© The proportion of boys who preferred C Is equal to the proportion of girs
who preferred C.
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‘The two-way table shows the classification of students in a mathematics class by
gender and dominant hand. A student who is ambidextrous uses both hands
equally well.

Right=handed | Left=handed | Ambidextrous | Total

Male 11 4 1 16
Female 12 2 o 14
Total 23 6 1 30

28. PartA

What is the probability that a randomly selected student in the class is female
given that the student is right-handed?
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